TPwn a"7 '0w 2,7 2w .7"02

Liquids which ‘come’ because of a Sheretz - yaw nann 29827 PR

Overview

The ® 1) discusses what is meant by saying that 1pwn nnmn 1825 P20 are part of
the 7127 11'"; if the 7"pwn became Xnv by touching a ¥ W and then these 7°pwn touched
P29IX that is a RN 7821, so how can it be part of the 927 "> N7 1A, Our MOOIN
qualifies this question.
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When the X3 asks that it is XnS=IRT2 72170 Y01, the X713 is asking it according

toy'"n -
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Who maintains in the first P95 of 25102 noon that 0" the rule is that ypw= can
be Xnun other things (1721%).

Summary
¥ maintains XN™RT 20X RA0? 7PWH DRM.

Thinking it over
What is the s'R3 question, 'RN™IIRT yW Mann 1PRA7 7pwn’, perhaps ¥ (according
to whom we are asking) does not include 7’pwn nnmn PRI7 199X in the 727 n"™?!13

' The yaw is an 7xm107 2x and the 1pwn which touched the W are a (n"7n) ARAWY MR, and the P231% which touched
the 1Ppwn are a (n"7n) ARMWVY *1w and a XMWY *1Ww is NI AP0 S9!

2 The P10 (in 72,8 [1°nw] Xp™) states Xnw? *9 232 7w WK apwn 920, There is a three way np12ma regarding XMW
7"Pwn. One opinion is that Ppwn are not even XN»RTA AN 22pn and the 100 which states Xnv> means that 1°pwn are
TRMIY 22P% PO won, but they are not aXnw 7apn. A second opinion is that Ppwn can be xmw 22pn (as the plain
meaning of the 7109 indicates), however it cannot be X Runn. [According to these two opinions the X713 has no
question, for indeed the 1pw» nana PRI P22 are only 1327771 Xnw.] While ¥"1 maintains that 1pwn can be 0°nR Xnon
n"nn, for the word X»v> in this 7105 should be read a Xnp> (*°%2 "M nno1a v P> N2 7"10), it makes others Xnv.

3 See °n W naw.
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